& M 6 F E
% i =
BRIFBFOLH BRI EEELEEXH

FLIR ™ 2% B L K & & % 5% e 58




¥ B ERE e hee!

g BB Mth
HEBEE L Mth

&5 R A

1 BREOHME

AREBEIL BIRIIDKBETSV O T AKUEKEFALBREZITS. BIRIIREED

EEL- B MFEEETILDTHS,

(XFBAE]

(1) WERAICKSERG-BEH(BF) 1R

(2 WERAICKDER-BEHR(ERE) 1K

(3) BERDBERR 1=
(4) FAEMERDERR 1=
(5) MEERBEARTRR 1=
(6) PASHEEIBIIRATZERIER 1=
(7) MAEREEGRTRIER 1=

ZOMEHREICEEBDEE

2 EITHIM

RO BN S M7E3ASIBET,

==L, ERISRYBITHENSE,

(1) BEICHSEER-ER(BRE) [L10BMEEARLET D,

(2) BREICHSEER-ERRME) [L15BMEEARLET D,

() MERFOBEERRIFBAMEERET S,

(4) MEHRDERRIBEEERET D,

3 tHE

AMIEIR)MEEEREERBARE LD,

4 BTSN
(1) FIRNREERTERR RHERRIL27ZR1TE GLiHEitRA)
(2 &EQO HIRHERXIL285KHITH (FLIRE#HZBHA)

LLE




BIEDLY: BRI MEEEREERT

$BERE Mt
sy B A
" MBBERLE M1
2 # s B |wp 2| 2 @ & & T L
1. BRI ETE =] 10 F1EHRE
(EBHE-RE)
2. Ein-BHLHE =] 15 FI2ENRE
(EBE- ")
3. HEARER =} 43 EISHNERE
(ZEBE)
4. BERER ] 8 F42RRE
(ZEBE)
5. FHIAR - RTELHE N 1 52 RRE
(BE®)
LIS 5t
HB R ME =% 1
LHREAE

fL.O#®]



1. B8R - B X (EHE - BE)

e ol M
FE15ARE
% FR iz =1 Bil| %= | & @ ® % 1 Kifi- EREES
EEr - B 1R (R ) =X 1 FE1-1BHRE
EEAGES
EEYaE =X 1
EEXBES
EBEEE =X 1
EHRE
—REEEE =X 1
EF Al

fL.O#®]




B ir - RO 18 (R fE

EEAGE Mt
F£1-15 RNRE
£ W BMoooOm |eumE| B @m | & B | M - 2 HES
BEEROEE- B0 ol I
B
& i

g ™



2. EER-BEMRER (XEE-RE)

e ol M
FE2EANRE
% FR iz =1 Bil| %= | & @ ® % 1 Kifi- EREES
EEr - B AR () =X 1 F2-1BHRE
EEAGES
EEYaE =X 1
EEXBES
EBEEE =X 1
EHRE
—REEEE =X 1
EF Al

fL.O#®]




B . BE L

EEAGE M

Bzl #% B & # i B (RE-HEES

¥
i

% o

il H

AT DI

B

op

g ™



3. BERBEHB(ZEHE)

e ol M
FEIFARE
FR iz =1 Bil| %= | & @ ® % 1 2 |Ril-EEEFS
AERAR =X 1 EI-1BHRE
EEAGES
EEYaE =X 1
EEXBES
EBEEE =X 1
EHRE
—REEEE =X 1
EF Al

fL.O#®]




BE =S

EEAGE M1
$£3-15 KNRE
2 ¥ s 7 |wml meE| ® @ %5 i - HE RS
H 1
EFER
H 1
mEE
H 1
AEIZ=VER
AHY— - 20— H 1
7
O—5— RS o I
SR
1 ) (BlEnmye, 28 | H 1
=L (R RET AT )
URFE-a>T5 &, H 1
B ($F6RE158) |m#avbo—5%. 1
HiR{EE,. UPSHE)
(BB-t—TsJZEE| H 1
EEGERIE) |B2n. mpheEss.
avka—iLtEoAR)
B (BEH-gEHE |7 ‘
%)
) B 1
th SR BRI 1 | (SVER)
) B 1
th R BEIRAIBER IS | (e Em I R)
s = g | (PC-E=4-RFIDFZ | A 1
REEMEBHA pim zraa
=B )
H 1

ITVER (%

g ™




£ Boo®m |mu mE| 2@ @ 1 Hofli- TS
H
ESE—5—
R -HRT7Y A ‘
BRER
H 1
BUHBR
ISR D AT ol I
H 1
FHAT (BEAT)
: (1oa—toam- | B 1
PR ASBORBEE)
& 3

g ™



4. BRBREH(EHE)

e ol M
FEA5NRE
% FR iz Bil| %= | & @ ® % 1 Kifi- EREES
SER=E =X 1 F4-1BHRE
EEAGES
EEYaE =X 1
EEXBES
EBEEE =X 1
EHRE
—REEEE =X 1
EF Al

fL.O#®]




Qﬁa

EEAHE Mt
¥4-15 WRE
% 41 i Ho|lmm 2| 2@ | & # 1 K- BEES
B 1
REER- BRI 4R
5o N =3 1
RERRBEE |y, a
i)
B 1
BREER (BAEER)
B 1
BES
B 1
MEIZ=VR
B 1
RARRIL—
B 1
HEkA
B 1

RELZE HIHE

op

g ™




E 3T

i
o1

A s

&
i

B

b
]

Jjn
|
g/_l;ﬁl
Il

1

i

1

Kffi- HEES

EH RAR - RSF

= 1

E5-15AR

(BEMER TR

EH RAR - RSF

$5-28 AR

(BAT- B HERAR)

EH RAR - RSF

$5-38 AR

(ZDERERR)

EH RAR - RSF

$E5-45 AR

(BE RN ER fiR)

EH RAR - RSF

$5-55 AR

(R

EH RAR - RSF

$5-68 AR

(RIREH)

=]

#l

L




= HA 5 . —a £ =71,

E EAL M

% b1 i) = BHip #i=2 | B O * % i3] =z Rifi-HEES
= 1 E5-1-1EHR
EH AR - RSF
= 1 E5-1-28 AR
IEERFAIART M AR
= 1 #5-1-32HiR
BERIR TRF AR
EEAGE
EEYRE = 1
EEXBE
XBERE = 1
E L]
—REBEE = 1
E TS

g ™




o B 2 1R - (R 5F (AR
EEAGE e Re!
¥£5-1-15 ARE
% b1 i =1 HE #= =R i € % i3] = Rifi-HEES
(=] 2
FHFI-v70v)
(vayazrr, XH#- | [E 1
BeE THRARLSRE. BSH
I7UED)
& B

g ™



EET RS AL AT & AL
EEAGE Mt
¥5-1-25 RANRE
4 o i =1 BHip #i=2 | B O * % ] Rifi-EEES
GAEa=vr-RY | % 1
BREESH )—>-20—T&
&)
= 1
A—4)—RREH |(1-25H#)
FEFF—>JOy = 1
9
= 1
RARRIL—2
= 1
BekRoT
& F

g ™




EEAGE Mt
¥5-1-35 RNRE
4 o i =1 BHip #i=2 | B O * % ] Rifi-EEES
GAEa=vr-RY | % 1
BREESH )—>-20—T&
&)
= 1
A—4)—RREH |(1-25H#)
FEFF—>JOy = 1
9
= 1
RARRIL—2
= 1
BekRoT
& F

g ™




R Mt
$5-25 RNRE
= # i B |Eful HE| B # i Rifi-EEES
oy 1 585-2-15 AR
EHRIR-RSF
oy 1 585-2-25 AR
EERBALR A AR
= 1 $5-2-35 MR
EERHE T B mAR
EEAGE
EEMRE =® 1
EEXBE
XEEER =® 1
XA
—REEES =® 1
el

g ™



EEAGE M

$F5-2-15 WNRE
£ b i =1 B #= B E ® # &5 = Rifi- BEES
[a] 1

A B3—IR %R

op

g ™



EEAGE M

$F5-2-25 NRE

£ b i =1 B #= B E ® # &5 = Rifi- BEES
= 1

EREHAZIE
= 1

AT
= 1

N EREN R
= 1

PR

&

g ™



EEAGE M

$F5-2-35 RNRE

£ b i =1 B #= B E ® # &5 = Rifi- BEES
= 1

EREHAZIE
= 1

AT
= 1

N EREN R
= 1

PR

&

g ™



E EAL M

% o iz =1 Bl %E | B @ & # i Rifi- HEHS
= 1 8E5-3-15 MR
EIRFAIART R IR
= 1 585-3-28 MR
BIRIR T R AR
EEAME
EEMRE = 1
EEXHE
EHEEE = 1
E 3L
—REEEF = 1
XA

g ™




EEAGE M
$£5-3-15 RNRE
% b1 i = HE #= =R i 4] 1 Rifi-HEES
SNERE . HpAREs |mom. 50w, BEE. 27
ARE-RIEES |wm o8 258 22rs
FAT EERE)
. . . = 1
= 4 GEARL T, kAT | T
BRI - REEE )
BT ELE » !
= 1
upsHg
= 1
ERE—5—
= 1
ITVEREREAR
o &
=] A

g ™




EEAGE M
$£5-3-25 ANRE
£ b1 i3 = HE #= =R i 4] 1 Rifi-EHEHES
INEERE AR |G B ST, 22
ARE-RIEES |wm o8 258 22rs
FAT EERE)
. . . = 1
e GEARL T, kAT | T
RSRE - REEEHEE)
BT ELE = 1
= 1
upsHg
= 1
BHE—5—
o B
=] A

g ™




== HA o (BE =n
E e dTiT 4,
$£5-45 RHIRE
£ b i =1 B #= B E 28 &5 Rifi- BEES
= 1 E5-4-15RER
EELBRIR AT AR
= 1 E5-4-28 KR
B T B AR
EEAME
BREMRE = 1
BRELEE
IR = 1
eS8 Y iil
—REEES = 1
2 95 (kG

g ™




o NS =2 FEES
EEAGE M
£5-4-15 RNIRE
£ £ i = B 8| B @ £ % ] Rifi- BEES

(CPU-CRT-PRT- = 1

th RESIRFIE R [ h—F ) — S (ks
=9
(UPS-RFIDEREEEEE | = 1

/ZAREE-/\Y]

V)

op

g ™




EEAGE e Re!
$5-4-25 RRE
£ £ i =1 B 2 | B & % 15 Rifi- BEES
(CPU-CRT-PRT- =% 1
th R ESIR I R | h— R — S mk s
iB)
(UPS-RFIDERIFEE| = 1

/ZAREE-/\Y]

V)

op

g ™




EH AR (RS (R

E EAL M

% b1 i) = Bl #H2 | B @ € % i3] =z Rifi-HEES
= 1 E5-5-12HiR
EERBR AT MR
= 1 $5-5-28 NN
BRI TR AR
EEAGE = 1
EEYRE =® 1
EEERE = 1
XBERE =® 1
E L] =® 1
—REBEE =® 1
E TS = 1

g ™




Bz RAIL R S iR (R

EEAGE M

2 # # B | we | 2 m & ®= % Rifi- BEES
" (BEAEY-zES | 2 1
BEZE )
(RSN 1
HE KEE BT EH
=a0)
=% |
5= (RESED)
o (EER- L—TFL | 2 ‘
WEF UED)
& 3

g ™




EEAGE M
$£5-5-28 RWIRE
2 # # B |am sE2| 2 @ %8 % Rifi- BEES
" (BEAEY-zES | 2 1
BEZE )
e iy = % ﬁ§~ = Es
W= KEE BT EH
=24)
=% |
BT (REBED)
o (EER- L—TFL | 2 ‘
WEF UED)
& 3

g ™




r'-lﬁa - [ AN = |

2 A% 4,
$£5-685 RNIRE
£ b i =1 B #= B E ® # &5 Rifi- BEES
= 1 F5-6-12HNER
EHER - RSF
B AME = 1
BREMRE = 1
BRELEE = 1
LHREEE = 1
2 7% [ = 1
—REEEE = 1
2 75 1% = 1

g ™




""'HlE . = =]

EiEAGE Mt
$£5-6-15 WNRE

i =1 B #= B E ® # &5 = Rifi- BEES
[a] 2

op

g ™



